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(1 m=0.35 m) =6500 Pa

(4) 7K XF 25 4w JEG Y e it
p=prgh=1x10"kg/m* x 10 N/kg x 1 m
=10000 Pa

TR 2S48 I 1 e 7

F =pS =10000 Pa x0.01 m* =100 N

Py =

1B.()EmEE B A
(2) PFBRAE H L4
(3)HEK
(4) %
(5)800
()22

14. (1)15%E (2)&ESH K h
(35
(4) FhHas 2 oS
(5)2.1 1.1x10°

15. ACD

16. fift: (1) A 255 T /KX 25 2% R0 0 J & 52k

Py =pgh =1.0 x10° kg/m’ x 10 N/kg x
0.1 m =1000 Pa

(2) P9H 1Y) o 2t

My; =pg Vi =0.8 x 10° kg/m* x3 x 107 m’
=2.4 kg

B g% 5L Y [T )

F=G, =myg=(myu +my)g=(0.6kg
+2.4 kg) x10 N/kg =30 N

- 21

B 288 Xt 7K 55 1 e
F_ 30N

= — = :1 P
Po= g0 00 2 1000 Pa
(3) W9 TR

V‘ﬁ 3x107° m’

V:i‘:iz 1

hw =g =00 TO-DOm

AR py =py’
px&(hy +Ah) =pug(hy + Ah)
1.0 x10° kg/m’ x 10 N/kg x (0.1 m + Ah)
=0.8 x 10’ kg/m’ x 10 N/kg x (0. 15 m +
Ah)
#4153 Ah =0.1 m
SHILMIC
(=)
1.50 ®Em L 5%x107°
2.5F =
3.4 e KRIEARAE
4.A 5.D 6.B 7.ABD 8.BD
9.F,=Fy<F. Fy>F,>F;
10.8 400 1.5x10’°
11. AC
12,/ (1) B iAg Bz 1 52 IR
Fi =py&Vim =1 %10’ kg/m’ x 10 N/kg x
55x10 °m’=0.55 N
(2) B g B PR B , i 32 1
G=F;=0.55N
R Ve o 1
G _0.55N

~ g 10 N/kg

R B PR A
V="V, =50 mL.=50 cm’
18 B 5
g

~m _ 55
P V 50 em®

(3) E 2R B8 2 2 i 7

)

=0.055 kg =55 ¢

=1.1 g/em’



13.

14.
15.

F'=p,eVy, =1x10" kg/m’ x10 N/kg x 50
x10"°m’=0.5 N

] 2 AR B P8 % T KR IG R Y Hs )
Fp=F,=G-F; =0.55N-0.5N=
0.05 N

(1)4.8

(2) WA

(3)C D

(4) Pl A ek

(5)@0.6 8 x 10’

YR OPUR 0.9 x10°

fiff: (1) TEJ7 A A XF K- T ) )
F=G=8N

EJTIAR A B TR

_F 8N
~p 800 Pa

TR A B

L=,/S,=+/0.0l m*=0.1m

(2) IET7 1A A AR

V=L'=(0.1m)’ =1x10" m’

IETT A A FHARZERLAE [ 72 112 7K 1
BEPIAE P A b, S8 iR i, HEJT K Y
(LA

Vyp=V=1x10"m’
TR A 23T

Fy =pygVy =1.0 x10° kg/m’ x 10 N/kg X
1x107° m* =10 N

(3) BYMram L, IETT R A i 1k, b T35
FEIRES, B2 %

F.'=G=8 N

BEIHEIT 7K AR AR

F‘i?l _

g

8 N _
1.0 x10 kg/m’ x 10 N/kg

8 x10 *m’

S, =0.01 m’

!
Vﬂlf

Pk

FKTAT T R0 )
VHF B VHF, —
St

Ix107m-8x10*m’

400 x 10 * m’
TR 254 JES 30 H 5 ) AR b B
Ap =prgAh =1.0 x 10" kg/m* x 10 N/kg
x0.005 m =50 Pa

(=)

Ah =

=0.005 m

1.40 20
2.1.0x10° 1.2
3 A
4. k1 W
5.D 6.ABD

8.B 9.AC
10. fiff: (1) IR A RILCATK IS, KX 25 4
JR& Y [ 5
p=pyeh=1.0x10" kg/m* x 10 N/kg x
0.08 m =800 Pa
(2) Wik A Pz )
G, =m,g =0.09 kg x10 N/kg=0.9 N
PRk A FE K R IR I, 7S R O S T Y
57
F=G;+G, +6, =09 N+6 N+0.9 N=
7.8 N
g xSRI Y e 5

F 7.8 N
'=—=—"———F—>=975 P
S 8x107°m’ 4

(3) Wik A B

0.09 kg 3 3
= 0P _06x10k
V, L5x10m g/m

m
H oy <py ATED, R A FE K ok i Ab
TR, W B Z BN
F.=G,=0.9N

p

my

Pa =

. 22 .



1. (HQmB M@
(2)%7F
(3) 46 AN [] 049 WA 0 ) 1k 22 0L
(4) Behrb By 7K B A
(1)1.6 (2)< (3)0.6
(4)> (S)HK
ABC
i+ (1) T AON TRV 4 114 He 5
p=pyxeh =1.03 x10° kg/m’ x 10 N/kg x
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2 B A2 B B D) FZE 5] ) 2 —
XF - 7, B DR 2 B 5l 1 h
1000 N, VRAEZE5] Jj T

P =Fy=1000 N x% /s ~5555.6 W

(3) VRHATRERY B AR
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